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Question

A particle of mass 2kg is travelling at velocity of 1.5m/s. A force F(t) = 3t2(in newton) is applied to it in
the direction of motion for the duration of 2 seconds, where t denotes time in seconds. The velocity (in
s, up to one decimal place) of the particle immediately after the removal of force is

(A) 4.8mis (B) 6.8ms
(C) 55mis (D) 7.0mfs
Which of the below is the correct formula to find group index (GI) of soil?
(A) Gl =0.1a+0.0025ac+0.005bd (B) Gl =0.2a+0.005ac+0.01hd
(©) Gl =0.01a+0.025ac+0.05hd (D) Gl =0.02a+0.05ac+0.001bd

A theodolite was setup at a station P. The angle of depression to a vane 2m above the foot of staff held
at another station Q was 45°. The horizontal distance between station P & Q is 20m. The staff reading at
bench mark S of RL 433.050m is 2.905m. Neglecting the errors due to curvature and refraction, the RL
of station Q (in meters), is

(A) 413.050 (B) 413.995
(C) 435.955 (D) 431.050
Which among the following is the standard symbol for Atwood number?
(A) Ar B) A
) a (D) AR

In the Bowl’s method for finding the effect of water table, which of the following factor is used for soil
in the wedge zone?

(A) Water reduction factor (B) Effective unit weight

(C) Overburden pressure (D) Awverage unit weight
Jet propulsion works on the principle of

(A) Newton’s first law (B) Newton’s second law

(C) Newton’s third law (D) Thermodynamic properties
Which among the following is the formula for Force when it strikes the plate?

(A) pav? (B) pav

(C) pa (D) maE

The void ratio and specific gravity of soil are 0.65 and 2.72 respectively. The degree of saturation (in
percentage) corresponding to water content is

(A) 65.3 B) 209

(©) 837 (D) 54.4

A close tank contains 0.5m thick layer of mercury (specific gravity=13.6) at the bottom, a 2m thick
layer of water lies above the mercury layer. A 3m thick layer of oil (specific gravity = 0.6) lies above
the water layer. The space above the oil layer contains air under pressure. The gauge pressure at the
bottom of tank is 196.2 KN/m?. The density of water is 1000 Kg/m® and the acceleration due to gravity
is 9.81m/s2. The value of pressure in the air space is .

(A) 92.214 KN/m? (B) 95.644 KN/n?

(C) 98.922 KN/m? (D) 99.321 KN/n¥
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The Atterberg limits of a clay are 38%, 27% and 24.5%. Its natural water content is 30%. The clay is
in state.

(A) Plastic (B) Semi solid
(C) Liquid (D) Semi liquid
Which of the following type of method is adopted for research studies on crops?
(A) Lysimeter Method (B) Drip Irrigation Method
(C) Phytometer Method (D) Furrow lIrrigation Method

Which of the following is true about bracket connections?
(A) They are used to give aesthetic appearance to the structure
(B) These connections are used to accommodate less number of bolts
(C) Fabrication cost is low
(D) More rigid than any other connection

The value of Reynolds number R is 1.5. The coefficient of drag is?
(A) 8 B) 10
© 12 (D) 16

A pretension in concrete member of a section 200mm X 250mm contains tendons of area 500mm? at a

centre of the section. The prestress in the tendons is 1000N/mm?. Assuming modular ratio as 10, the

stress (N/mm?) in concrete is
A 11 B) 9
© 7 (D) 5

Construction of cavity walls as external walls to protect the building from the outside heat or cold as the
hollow space between two walls act as an

(A) Destructive material (B) Burning material

(©) Building material (D) Insulating material

The ultimate BOD of waster water whose 5 days BOD (BOD)sand rate constant (base e) respectively
150mg/L and 0.23/day is

(A) 80 mg/lL (B) 150 mg/L

(©) 180 mg/L (D) 220 mg/lL

A box measuring 50cm X 50cm X 50cm is filled to the top with dry coarse aggregate of mass 187.5kg.
The water absorption of specific gravity of the aggregate 0.5% 2.5, respectively. The maximum quantity
of water (in kg. round off to 2 decimal places) required to fill the box completely is

(A) 50.94kg (B) 45.28kg

(C) 54.18kg (D) 65.00kg

The benchmark has been established at the soffit of an ornamental arch at the known elevation of
100.0m above the mean sea level. The backsight used to establish height of instrument is an inverted
staff reading of 2.105m. A forward sight reading with normally held staff of 1.105m is taken on recently
constructed plinth. The elevation of plinth is

(A) 103.210 m (B) 101.000 m
(©) 99.000 m (D) 96.790 m
Cantilever scaffolding is also known as
(A) Mason’s scaffolding (B) Suspended scaffolding
(C) Needle scaffolding (D) Ladder scaffolding
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Which of the following line is usually parallel to the plot boundaries and laid down in each case by the
Authority, beyond which nothing can be constructed towards the site boundaries?

(A) Property line (B) Building line

(C) Plot line (D) Control line

What does “3-Es” of traffic engineering stand for?
(A) Engineering, education and enthusiasm

(B) Engineering, education and enforcement
(C) Engineering, education and expulsion

(D) Enforcement, empowerment and eradication

What is the modular ratio for M50 grade concrete?
(A) 5.83 (B) 18.67
(C) 6.44 (D) 7.18

The magnitude of the only shear stresses acting at a point in a plane stress situation is 7.5m/mm?. The
magnitude of principal stresses will be

(A) +15.0 N/mn? and — 7.5 N/mm? (B) +7.5N/mm?and +15.0 N/mn?

(C) +7.5N/mn? and — 7.5 N/mn? (D) +10.0 N/mn? and — 7.5 N/mn?

In the equation U-0.9D + 1.6W + 1.6H, what is the load factor for H if the structural action of H
counteracts that due to W or E?

(A) 0.005 B) O
© 01 (D) 0.05
Which of the following is a method used to estimate potential evapotranspiration?
(A) Hazen-Williams equation (B) Manning’s equation
(C) Chezy’s equation (D) Thornthwaite equation
Research is search for new ------------.
(A) Knowledge (B) Commodity
(©) Country (D) World
Cluster sampling, stratified sampling and systematic sampling are types of
(A) Direct sampling (B) Indirect sampling
(©) Random sampling (D) Non-random sampling

Theresearchismainlyfocusingtestingtheoriesandhypothesisratherthanitspractical applicability. Itis
known as?

(A) Applied research (B) Pure research
(C) Action research (D) Participatory research
Methods of research means ----- of research.

(A) Publish (B) Conduct

(C) Publicity (D)  Presentation
Research methodology ----- problem

(A) Deviates (B) Intensifies
(C) Solves (D) Neglects
Quantitative and Qualitative research are ----.

(A) Same (B) Unique

(C) Different (D) One
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Research process does not include -------- :
(A) Publication
(C) Design

--------- research is important.
(A) Pure
(C) Quantitative

(B)
(D)

(B)
(D)

Hypothesis
Problem

Applied
Descriptive

Which of the following is a characteristic of quantitative research?
Focus on numerical data
Emphasis on participant observation

(A) Subjective interpretation
(C) Use of open-ended questions

What is the primary purpose of a literature review in research methodology?

(A) To summarize statistical results

(B)
(D)

(B) To provide background information on the topic

(C) To describe research methodology used in the study

(D) To critique existing research studies

Interview is a source of ------- data
(A) Primary
(C) Time series

Schedule and Questionnaire are the ------ .
(A) Same
(C) Different

More scientific sampling method is ----- :
(A) Purposive
(C) Quota

To avoid plagiarism in research ------ is useful.

(A) Copy
(C) Bibliography

References and Bibliography are the -----
(A) Same
(C) Different

Method of references in research is ----
(A) APA
(C) ABA

Ethics in research is discarded by ----.

(A) Copy
(©) Sample

The process of reviewing existing literature to gather information and ideas related to a research topic is

known as:
(A) Data analysis
(C) Literature review
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(B)
(D)

(B)
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(B)
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(B)
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Secondary
All

Unique
None

Convenient
Random

Citation
None

Unique
None

ACA
ADA

Plagiarism
Census

Data collection
Data interpretation
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In a normal distribution curve, what percentage of data falls within one standard deviation from the
mean?

(A) 68% B) 75%

(©) 95% (D) 99.7%

What is the main difference between inductive and deductive reasoning?
(A) Inductive reasoning starts with a theory, while deductive reasoning starts with a data.
(B) Inductive reasoning aims to conform existing theories, while deductive reasoning aims to ex-
plore new theories.
(C) Inductive reasoning starts with data to develop a theory, while deductive reasoning tests a the-
ory with data
(D) Inductive reasoning uses qualitative data, while deductive reasoning uses quantitative data

Which of the following is a measure of dispersion?

(A) Mean (B) Median
(C) Range (D) Mode
Which of the following is NOT a type of experimental design?
(A) Pre-experimental design (B) Quasi-experimental design
(C) True experimental design (D) Descriptive design
Which of the following is an example of a continuous variable?
(A) Gender (B) Marital status
(C) Age (D) Country of residence

Which of the following is NOT a type of probability sampling technique?
(A) Cluster sampling
(B) Convenience sampling
(C) Stratified sampling
(D) Random sampling

An image, perception or concept that is capable of measurement is called .......
(A) Scale (B) Hypothesis
(©) Type (D) Variable
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